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How can | Graph the Secant and Cosecant Functions?
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3egin with the same analysis procedures as for graphing transformations on sine and cosine. Determine all
the following based on the associated reciprocal function:

(0S %
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v phase shift (if applicable) £
v midlin2 — -
v maximum and minimum values
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1. Create a table of values and LIGHTLY sketch the graph of the associated reciprocal function.
2. Lightly sketch YERTICAL asymptotes through the_MiDLINE A+ INTER CEP TS
3. The pcints that were absolute maximums on the graph become RELATIVE M INimu

while the points that were APSOLUTE M N LAV YU become relative maximums.
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Pre-Calculus Name KQ?)/
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Pre-Calculus

Sketch the graph of the function.
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